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BAREM DE CORECTARE ŞI NOTARE 

Problema 1. 

a) ( ) ( ) ( )( )
2018

2018 2 1 cos 2018 sin 2018z n arctg n i arctg n= +   +   ............................1 punct 
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2018 20181z i n a i b= +  = +  , 2018a   şi 2018b   ....................................... 1 punct 

              Demonstrează că 2 *1 ,n n+    ........................................................................1 punct 

              Finalizare ......................................................................................................................1 punct 

 

            b)  0b =    ........................................................................................................................1punct 

       

                 a ........................................................................................................................  1 punct 

              Finalizare .......................................................................................................................1 punct 

 

Problema 2. 
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
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Problema 3. 

a) Implicaţia directă           ...............................................................................................2 puncte 

     Reciproca                                .....................................................................................2 puncte       

 

            b)  Cazul 1q  ..................................................................................................................1 punct 

                 Cazul 1q  ..................................................................................................................2 puncte 

 

   

             


